

# Practice

\$, □, ⊙, △, □, ⊙, ▽

$$1.) \quad -\square \$ + \ominus = \odot \$ - \triangle; \text{ for } \$$$

$$2.) \quad -\ominus (\triangle \square - \$) - \odot (\square \square) = \nabla; \text{ for } \square$$

$$3.) \quad \nabla + \frac{\ominus}{\square} = \$ \nabla - \frac{\ominus}{\square}; \text{ for } \nabla$$

$$4.) \quad \frac{\ominus (\square + \$)}{\nabla} = \triangle \square + \odot; \text{ for } \square$$

$$5.) \quad \square \triangle - \ominus = \square + \nabla \triangle; \text{ for } \triangle$$

$$6.) \quad \$ \square - \triangle = \$ (\square + \odot); \text{ for } \square$$